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Children solve the first question this using the ‘counting on’ method using objects to represent the oranges (see video).

 ‘I had 10 oranges in my basket, and I added 5 more. How many oranges do I have now?’ Write this as a number sentence.  
So the number sentence would be: 
10+5= 15

[image: ]Solve 9+6 using the number line
9+6= 
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Maths Magician is solving an addition question and does not know whether to start at the bigger or smaller number. What do you think is easier? Write a sentence below to explain. 

Answer: Children should say it is easier to start at the bigger number as there is less to count on. This makes it quicker and easier. 
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Mo and Jack are working out 11+ 7
Mo says,
R
Jack says
12 13,14,15,16,17,18

Use a number line to show who is correct.




image3.png
Eva has 13 prize tokens.
She wins 5 more.
How many prize tokens does Eva have now?

13
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